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Solve the following word problems by drawing a tape diagram. Then, use any strategy that you've learned to
solve.

Sandra has 46 fewer coins than Martha. Sandra has 57 coins.

a. How many coins does Martha have?
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57*46=?
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57*3:6O
50+43=1$3

Martho has 103 cains.

b. How many coins do Sandra and Martha have together?
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S eafns M taixs 57*1fi3-?
57+1tI0*3:7
60+1S$=L68

ficadra snd Murths hane 1&* ccins t*gether"
I break 103 into 100 + 3 and then add the 3 to
57 to make the friendly number 60. Now, this
problem is easy: 60 + 100 : 160.

M

5

,/
fewer

\
46

43

46 Lesson 31:

@2015 6reat Mindi, eurcka-math.org
G2-Ml+WH-1.3.O{r7^201s

Solve two-step word problems within 10O.
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I use the RDW process to solve. A tape
diagram helps me see the parts I know. I know
that Sandra has 46 fewer coins than Martha,
so that means Martha has more coins, 46
more. I add to find the number of coins
Martha has.

From Part (a), I know that
Martha has 103 coins. I add
them to Sandra's 57 coins to
get 160 coins all together.


